KIM2301 Analytical Chemistry

2021-2022 Fall Semester
Recitation 1
Chapter 4,5,6, 7,9



Green lentil samples were analysed for folic acid content with the following results

Sample Folic acid concetration (mg/g lentil)
1 0,74; 0,70; 0,68; 0,75

2 0,42; 0,45; 0,51

3 0,51;0,56;0,52; 0,53; 0,58
4 0,61; 0,65; 0,68; 0,69

a) Calculate pooled standard deviation.
b) Calculate coefficient of variance for 1. sample.

c) Calculate confidence interval for 2. sample if the results obtained for 2. sample are the
only indication of precision.

d) If sample 1 and sample 2 are analyzed by two different analytical method, which one is
more precise at 95% confidence level?
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7.30) Apply the Q test to the following data sets to determine whether
the outlying result should be retained or rejected at the 95%
confidence level.

(a) 41.27, 41.61, 41.84, 41.70
(b) 7.295, 7.284, 7.388, 7.292
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e 7-12. A chemist obtained the following data for percent lindane in the
triplicate analysis of an insecticide preparation: 7.23, 6.95, and 7.53.
Calculate the 90% confidence interval for the mean of the three data,
assuming that (a) the only information about the precision of the
method is the precision for the three data. (b) on the basis of long
experience with the method, it is believed that s— 0 0.28% lindane.

P g e L [0 wa o aa oy
3 S -1
- 0.29
) 5, EE l.ou + 2-82¢0.29
rol = £ BYe TOLY Y T F2.9)

2. F l.6l 2

SR - ":Z(‘I 1 x O F/ ’ 2¢ T O. )2~

_ z 1-24T 0.2%% 2 e fubt
W ¥ 7

&



9.17) . The solubility products for a series of iodides are
Cul Ksp: 1x10-12

Agl Ksp: 8.3 x10?/

Pbl2 Ksp:7.1x107

Bil3 Ksp:8.1x101°

List these four compounds in order of decreasing molar
solubility in

(a) water.

(b) 0.20 M Nal.

(c) a 0.020 M solution of the solute cation.
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